Final Exam; F4360; 1:00 Class; Spring, 2002; page 1 of 2

Name ______________________________

Short answer questions/problems

1.  Explain the fundamental issue involved in the underwriting of a new stock issue?
2.  What do we call that part of the indenture that limits corporate actions to protect a firm’s bondholders?

3.  Of the four dates associated with dividend payments, which comes 2nd chronologically (in time)?

4.  When we look at actual evidence on how security prices react to the announcements of dividends, what do we find happens to bond prices when firm’s announce an unexpected increase in dividends?
5.  According to the signaling theory of dividends, what does management consider when setting the current dividend?

6.  According to studies of actual firms, how to stock prices react on average to the announcement that a firm intends to increase its leverage by issuing debt and using the proceeds to repurchase common stock?
7.  What are two costs that a firm might incur due to a loss of confidence in the firm based on the firm’s high debt level?
8.  When Modigliani and Miller examine how capital structure decisions are irrelevant if capital markets are perfect, they discuss how stockholders should be indifferent to a firm’s capital structure because they can create their own leverage.  How can stockholders create their own leverage?

Problems/Essays

1.  
Despite announcing lower first quarter profits on May 9th, Loews Corporation stated that it intends to go ahead with a repurchase of 19 million of its 190 million total shares outstanding.  The firm will repurchase the shares for $82.50 per share which is a substantial premium to their current stock price of $60 per share.  Assume you are Joseph Bower who sits on the Loews’s board and who owns 400 shares of Loews’ stock.
a.  What will happen to the price per share of Loews’ stock after the repurchase (assuming nothing else changes)?

b.  Assume that the firm decides to repurchase the shares via a tender offer.

1)  How many shares can you (Joseph Bower) offer to sell back to the firm?

2)  How will your wealth be affected by this repurchase if a total of 118.75 million shares are offered to the firm by existing stockholders?  Assume you act in your own best interest.
c.  Now assume that the firm repurchases the shares by using transferable put rights in which the firm issues one put per outstanding share.

1)  If you decide to sell your puts, how much total cash should you be able to get for selling them?

2)  If you decide to exercise your puts, how much total cash will you receive for the shares you sell?

2.  How does the current tax code regarding personal income taxes affect the total amount of dividends being paid in the United States?  Explain.  (Think about why the amount of dividends paid would differ if there were no personal income taxes at all).

3.  Based on our discussion of capital structure, what role do conflicts of interests within the firm have on the firm’s optimal capital structure?
4.  In what way or ways do conflicts of interest within the firm impact on the capital budgeting decisions managers make?
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5.  Since Ford has recently announced that it expects to break even in 2002, you have decided you might be interested in investing in the firm’s stock.  In order to estimate the risk you would face if you were to buy Ford stock, you have estimated the following data.  Based on this information, what is your estimate of Ford’s beta? in the firm'ptic project will depend on the state of the economy  


Return on:  

State of economy
Probability
Ford
S&P500
T-bills
Strong rebound
.20
48%
36%
1.71%

Slow recovery
.55
18%
12%
1.71%

Another downturn
.25
-20%
-4%
1.71%

6.  Enronderson Inc. is considering building a new high-speed paper shredding facility that will cost $100,000 and that will have a net present value of $25,000.  This will represent a significant increase in the firm’s assets from the current $350,000.  Due to possible litigation risk, Enronderson estimates that standard deviation of returns on this facility will be 62% which is greater than the standard deviation of returns on its existing assets of 51%.  The new facility will only have a 7 year life (as compared to an 8-year life for the firm’s existing assets).  If demand at the new facility fails to materialize, Enronderson estimates that it can sell the facility for $65,000 any time in the next 3 years.  Note that the firm currently has debt outstanding which matures for $500,000 in 6 years and that it will issue debt to help fund the project.  This new debt will also mature in 6 years for $69,000.  The remaining funding for the project will come from internal cash.  The return on U.S. treasuries varies according to maturity as follows (all are APRs assuming continuous compounding):  1-year = 1.71%, 3-year = 3.98%, 6-year = 4.95%, 7-year = 5.24%, 8-year = 5.40%.  The market risk premium is 8.2% and the beta of the project is 1.2.  What is the impact on the value of the facility to Enronderson of the ability to sell the facility if demand doesn’t materialize?
7.  Electron Arts Inc. is considering investing in a new factory to manufacture CDs for it PS2, X-box, Gamecube, and PC games.  Because EA sales of the X-box and Gamecube are so uncertain, EA estimates that the standard deviation of returns on the factory will be 53% rather than the 44% on EA’s existing assets.  Similarly, EA estimates that the beta of the new project will be 1.4 rather than the 1.1 on its existing assets.  Four months ago, EA bought land in anticipation of the plant for $100,000.  Today, this land could be sold for $90,000 (after taxes).  The factory itself can be build at a cost of $600,000 today and $500,000 six months from today.  The factory is expected to generate a net, after-tax cash flow of $120,000 seven months from today.  After this initial cash flow, the factory is expected to generate quarterly cash flows that increase by 1% each through five years and ten months from today.  The risk-free rate is 1.46% and the market risk premium is 6.4%.  What is the impact on the value of the EA of building this factory?

